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© Copyright, Jonathan Mandeno, 2010

Flute/Picc. 1

Flute/Picc. 2

Oboe 1.2.

Clarinet in Eb

Clarinet in Bb 1.2.

Bassoon 1.2.

Contrabassoon

Horn in F 1.2.

Horn in F 3.4.

Trumpet in Bb 1.2.

Trumpet in Bb 3

Trombone 1.2.

Bass Trombone

Tuba

Timpani

Percussion 1.

Percussion 2.

Violin 1

Violin 2

Viola

Violoncello

Double Bass

Lento q = 50 Più mosso (q = 55)

p

p

p p

p

p

p lontano

p legato

pp pp n

pp mp pp p n

Lento q = 50 Più mosso (q = 55)
pp pp

*
n pp n ppp

*
n pp n

*
n pp n ppp

pp mp pp

pp mp pp pp

pp mp pp mp pp

n pp
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G (Picc.) 0 0 0 0 0 0 0 0 0

JONATHAN MANDENO

Phantasmagoria
Composed for the Auckland Youth Orchestra, 2010

G
(Fl.) 0 0 0 0 0 0 0 0 0

G 0 0 0 0 0 0 0 0 0

G 0 0 0 0 0 0 0 0 0

G 0 0 0 0 0 0 0 0 0

� 0 0 0 0 0 0 0
� 0 0 0 0 0 0 0

� 0 0 0 0 0 0

G 0 0 0 0 0 con sord.

EE ! 0

G 0 0 0 0 0 con sord.

E E
0

G 0 0 0 0 0 0 0 0 0

G 0 0 0 0 0 0 0 0 0
� 0 0 0 0 con sord. 0
� 0 0 0 0 0 0 0 0 0
� 0 0 0 0 0 0 0 0

� 0 0 0 0 0 0

N 0 0 Susp. Cym. 0 0 0

N 0 B.Dr. 0 0 Tam 0 0 0

G
con sord.²²²²²²²²²²²²²²²² ²²²²²²²²²²²²²²²²² ²²²²²²²²²²²²²²² ²²²²²²²²²²²²²² ²²²²²²²²²²² senza sord. 0 ²²²²²²² ²²²²²²²²²²²²²²

GDiv. 0 0 0 con sord.²²²²²²²²²²²²²²² ²²²²²²²²²²² ²²²²²²²²²²²²²²²² ²²²²²²²²²²²² ²²²²²²²²²²²²²² senza sord.

G 0 con sord.²²²²²²²²²²²²²²²²² ²²²²²²²²²²²²²²² ²²²²²²²²²²²²²² ²²²²²²²²²² senza sord. 0 ²²²²²²² ²²²²²²²²²²²²²²

GDiv. 0 0 0 sul pont. 0 0 0 0

� 0
sul pont.

0 0 0 0

�Div.
sul pont.

0 0 0 0 0

� 0 0 0 0 0 0 0 0 0
�

* Slow quarter-tone vibrato downwards

0 0 0 0con sord.

BE 5E 5 BE B!
B : 5E '
BE BE ' ? 4 5IE

4 BBIEE :: 5
I
5I
B :B : 5�5

� = 4 ?

4 BBIE :: 5
I
5I
B :B 5 5�5

� = 4 ?

? BBEE 55� = 4 ? ? BB�� 55� = 4 ?

5IE 5IE 5I 5I!
4 · ? ? MMM� ·� = 4 ?
MMM' MMM' MMM' MMM5 5� = ?

5 4 ? 5 4 ? 5� = 4 ?

'E 'E 'E 'E 'E 5E � = 4 ? ? � �

'E 'E 'E 'E 'E 5E � = 4 ?

'E 'E 'E 'E 5E � = 4 ? ? � �

MMMB : 4 MMMB : 4

? = MMM5E : MMM5 4 4 = MMM5E � MMMB 4 MMM5E MMMB ?

? 4 MMM5E MMM5 4 ? MMMB : 4 4 MMMBE :

'E ' ' ' '
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Picc. 1

Ob. 1.2.

Eb Cl.

Bb Cl. 1.2

Bsn. 1.2.

Cbsn.

Hn. 1.2.

Hn. 3.4.

Tpt. 1.2.

Tpt. 3

Tbn. 1.2.

B. Tbn.

Tba.

Timp.

Perc. 1.

Perc. 2.

Vln. 1

Vln. 2

Vla.

Vc.

Db.

pp pp

(3*) (1) (2)A B C
10

O

p

N O N O N etc.

mf

p legato

legato

p

***

p legato

e.g. etc.

***

p legato

e.g. etc.

O

p

N O N O N etc.

mf

p

** etc.

mf

p lontano p mf

p lontano

mp p

ppp
slow random patterns

mf

(3*) (1) (2)A B C
ppp

p

mp

p

mp

sfz

n pp sfz

sfz

G 0 1. 0
(1. Picc. to Fl.)

ca.7-8"

ca.7-8"

ca.7-8"

ca.5-6"

ca.5-6"

ca.5-6"

ca.9-10"

ca.9-10"

ca.9-10"

G 0 0 0 0
a2.
(1) ** (1)

G 0 0 0 0

G 0 0 0 0
� 0 0

�

G 0 0 0 0
con sord.
I. solo (1) (3) (1)

O R

G 0 0 0 0 con sord.

O R

G 0 0 0 0con sord. a2.

(1) **
=

G 0 0 0 0con sord. (1) (2) =

� 2. senza sord. 0 0 (1) (2) �
(3) (1 player)

� con sord. senza sord. 0 0
�

� 0 0 0 0

(1)

N 0 0 0 0 R.S.

Sn. Dr. Windchimes
(2)¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶

N 0 0 0 0

G²²² ²²²²²²²²²²²²²²²²² ²²²²²²²²²²²²²²²²² ²²²²²²²²²²² ²²²²²²²²²²²²²²²²²
G 0 0

G²²² ²²²²²²²²²²²²²²²²² ²²²²²²²²²²²²²²²²² ²²²²²²²²²²²² ²²²²²²²²²²²²²²²²²
G 0 0

� 0 0 0 0 Udiv. pizz.

� con sord. senza sord. Udiv. pizz.

�

*** Play even e's at ca. q = 72. Move ad lib. between boxed pitches. Do not syncronise with each other or the orchestra. Avoid scales or repeating patterns
Stagger-breathe

** ad lib. slow even pulses. Do not syncronise. (O/N =alternate fingering)
* Bracketed arabic numerals = conductor's number 'free' beats to indicate.

senza sord. Udiv. pizz.

4 5I = 5I = 4 5I = 5I : 5� =

5IE 5I 5I 5I 5I 5I 5 =

55IE 55E BBE 4 55IE 55!E 55E
5IE 5I 5I! 5I 4 5IE 5IE 5I9 5IE 4 5IE 5I 5IE 5IE 5I 5I!

'E 5� = M''EE 5E 5! 5E 5! 5! 5 5E 5

M''EE 5! 5E 5E 5E 5! 5! 5 5

5IE 5I 5I 5I 5I 5I 5I 5

? BI BI 5

55E k
55E
� = 4 5E k5E � = 4 ? ? ? ' 5� =

? 4 5 k5� = 4 ?

5I
4

5IE 5IE 5IE 5I 5I9 5I 5I 5IE
4 5IE 5 5IE 5I 5I

2



B ? 0

� � � � ¿� =
4 5� = 5� = 4 5� = 5� :: 5�� =

� � � � ¿� =
4 5" = 5" = 4 5" = 5" : 5"� =

55
E

'0EE '0 '0 '0 5�
� = 55
E

' ' ' ' 5� = 55
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Fl. 1.2

Ob. 1.2.

Eb Cl.

Bb Cl. 1.2

Bsn. 1.2.

Hn. 1.2.

Hn. 3.4.

Tpt. 1.2.

Tpt. 3

Tbn. 1.2.

B. Tbn.

Tba.

Timp.

Perc. 1.

Perc. 2.

Vln. 1

Vln. 2

Vla.

Vc.

Db.

e.g. etc.

p legato

D
17

e.g. etc.

p legato

e.g. etc.

p legato

n mf n
drop out one
at a time

n

drop out one
at a time

n p

ppp

D

*

mp legato

*

mp legato

*

mp legato

*

mp legato

G
**

E
(3)

O R

(7) - follow string quintet
to 'E'

G

G
**(5)

O R

G
**(5)

O R

� (1)

a2.

E�
(2) (4)

G � �(6)

G ��(4) (5) stagger-breathe

G

G
�

�

�

�

�

N ¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶

(7) - follow string quintet
to 'E'

N

G � solo, 1 player

G � solo, 1 player

� �
solo, 1 player

� �
soli, 2 players

Dowland - "Lachrimae
Antiquae" 1605

EE E 9E EE E EE EE E EE

�

** As horns at letter B

* Like a viol - sul tasto, molto flautando. Players ignore conductor, playing as an independent chamber group at approx. q = 46
Conductor follows the solo string players, using them to cue other players as indicated.

5! 5E 5! 5E 5E 5E
M''

5E 5! 5E 5E 5E 5E 5! 5!
M
''EE

5E 5! 5E 5E 5E 5E 5! 5!M''EE
? 5�E�� =

4

4 ''EE

5E : 5E 5 5E 5 5 5E 5E B9 5E 5E : 5 5E 5 5 5E 5E 5E 5 5E 5E 59

5 : 5E � 5 5E 5E 5 5E 5E 5 5 5E 5E 5E 5 5 5E 5 5E 5 5E B 59 5E 5 5E 5E

BE : 5 BE BE 5 5 : 5� 5E 5E 5 5E 5E B 5E 5E 5E 5E 5E

B'
5 : 5E � 5B 5 BB B5 : 5 :5� B 5� B5 5 5B 5 5 :5

5E : 5E 5 55� 5 5= 5�
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Fl. 1.2

Ob. 1.2.

Eb Cl.

Bb Cl. 1.2

Bsn. 1.2.

Cbsn.

Hn. 1.2.

Hn. 3.4.

Tpt. 1.2.

Tpt. 3

Tbn. 1.2.

B. Tbn.

Tba.

Timp.

Perc. 1.

Perc. 2.

Vln. 1

Vln. 2

Vla.

Vc.

Db.

drop out one
at a time

n

q = 50 rit.E

drop out one
at a time

n p esp. mf pdrop out one
at a time

n

p

p n p p

n p p

p

p

p

p

p

mp n ppp

q = 50 rit.E
ppp

n

n

n

n

n p

��
��
��

��
��
��

��

��

��
��
��

��
��
��
��

��

��
��

��

��

��

��

��

G
(1 and 2 to Picc.)

0 0 0 0 0�

G 0 0 0 0 0 0�

G 0
solo

3

0�

G 0 0 0 0 0�

� 0 0 0 0 0 0�

� 0 0 0 0 0

G
(7) senza sord. 1. 2.

G
(7)

senza sord. 3.

E 0�

G 0 0 0 0 0�

G 0 0 0 0 0�

G 0 0 0 0 0 0�

� 0

� 0 0 0
� 0 0 0 0 0 0�

� 0 0 0 0 0

� 0 0 0 0 0 0�

N ¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶ 0
Susp
Cym.

(soft sticks)

N 0 0 0 0

G
(with conductor) 0 0 0 0�

G
(with conductor) 0 0 0 0�

� (with conductor) 0 0 0 0�

� EE E E (with conductor) 0 0 0 0�

� arco

? 4
5� B B 5 5 B :

'
�

''E 55E� = 4 4 5�
?:B B� 5� B5 5� B5 5E '5 4 ? BE B! '

�

''EE 55� = 4 4 5 5 5 5E 5 '! '5 5! 5 5� B0 B '%
B� : 4
4 B� :

? B� 5 5 5 5� 5 B : B B '�

? B '� '�

'
�

? MMMB MMM'�

B ? B ?�

5E 5 : 5E 5 59 5 5E 5E B 59 'E 5 : = ?

5 5E 5E 5E 5 5E 5E : 5� 'E 5 : = ?

BE 5E 5E 5E 5 5E 5E B 'E 5 : = ?

5B 5E 55� 5 5 5� 55 55 BE5E 5 ''EE 55 :: = ?

'0EE '0 '0 '0 '0 '0�

4
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Picc. 1.2.

Ob. 1.2.

Eb Cl.

Bb Cl. 1.2

Bsn. 1.2.

Cbsn.

Hn. 1.2.

Hn. 3.4.

Tpt. 1.2.

Tpt. 3

Tbn. 1.2.

B. Tbn.

Tba.

Timp.

Perc. 1.

Perc. 2.

Vln. 1

Vln. 2

Vla.

Vc.

Db.

fff

q = 80M
90

fff

*

fff

O/N...

fff

fff

fff

fff

fff

fff

*O/N...

fff

fff

fff

fff

fff

fff fff

fff

mf sfz mf sfz mf sfz

q = 80M
sfffz fff

fff

fff

fff

fff

fff

�� �� �� ��
�� �� �� ��

�� �� �� ��
�� �� �� ��
�� �� �� ��
�� �� �� ��
�� �� �� ��

�� �� �� ��
�� �� �� ��

�� �� �� ��

�� �� �� ��

�� �� �� ��
�� �� �� ��

�� �� �� ��

�� �� �� ��

�� �� �� ��
�� �� �� ��

�� �� �� ��

�� �� �� ��

�� �� �� ��

�� �� �� ��

�� �� �� ��

�� �� �� ��

G 0 0 0 0 0 flzg.

G 0 0 0 0 0 flzg.

G 0 0 0 0 0 a2.

G 0 0 0 0 0

G 0 0 0 0 0
� 6 6 6 6
� 6 6 6 6

G 0 0 0 0 0 a2. 8))))))))))

G 0 0 0 0 0 a2. 8))))))))))

G 0 0 0 0 0

G 0 0 0 0 0
flzg.

G 0 0 0 0 0
flzg.

� div.E

�

� 0 0 lowest note poss.

� 6 6 6 6
3 3 3

G 0 0
Susp.
Cym.

N 0 0

N 6 6 6 6
3 3 3

G 0
div.

G 0
div.

�
"

0 div.

� div.E �

�

* Alternate fingering tremolo.

6 6 6 6
unis.

4 MMMB
E MMMB 5� = 4 4

4 MMMB
E MMMB 5� = 4 4

4 MMMB
E MMMB 5� = 4 4

4
B
E B 5

� = 4 4

4
BB
EE BB 55� = 4 4

55
�
EE 55
�
55
�
55
�
55
�
55
�

BB
 :: BB 55 4 4

5
�
5
�
5
�
5
�
5
�
5
�

B
 : B 5 4 4

4 B
E B 5� = 4 4

4 B
E B 5� = 4 4

4 MMMB
E MMMB 5� = 4 4

4 MMMB



MMMB 5� = 4 4

4 MMMB
E MMMB 5� = 4 4

5
E B 5
 5 B 5
9 '' '
' B :B : BB
 :: BB 55 4 4

5
E B 5
 5 B 5
9 ' ' B :
B
 : B 5 4 4

�
 � �: B
 : B 5
4 4

5
�
E ·
�
5
�
·
�
5
�
·
� MMM�: MMM� · ·5

�
E ·5
�
·5
�
·5
�
·5
�
·5
�
·5
�
·5
�

MMMB 5

� = MMM5 MMM5 5


� = MMMB MMM5 5

� = 4

5
�

5� 5� 5
�

5

 4 4 ? 5� 5� 5� 5� 5� 5� 5� 5� 5�

' ' ' 5
� = 4 ? MMMBBE :: MMMBB 55� = 4 4

' ' ' 5� = 4 ? MMM
BB :: MMM

BB 55� = 4 4
' ' ' 5

� = 4 ? MMM
BBE :: MMM

BB 55� = 4 4

B
E : 5
 B : 5
9 '' '
' B
 :B : MMM
BB ::

MMM
BB 55

� = 4 4

555
�
� 555

�
555
�
555
�

MMMB : MMMB 5� = 4 4

16
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Picc. 1.2.

Ob. 1.2.

Eb Cl.

Bb Cl. 1.2

Bsn. 1.2.

Cbsn.

Hn. 1.2.

Hn. 3.4.

Tpt. 1.2.

Tpt. 3

Tbn. 1.2.

B. Tbn.

Tba.

Timp.

Perc. 1.

Perc. 2.

Vln. 1

Vln. 2

Vla.

Vc.

Db.

fff fff sffz

q = 48

97

fff fff sffz

fff

simile

fff sffz

fff fff sffz

fff fff sffz

fff fff

fff fff

fff fff sffz

fff fff
sffz

fff

simile

fff sffz

fff

simile

fff sffz

fff

simile

fff sffz

fff fff

fff fff

fff fff

sffz

ff ff sffz

q = 48
sfffz fff sfffz sffz

fff fff

*
mp

sffz p

fff fff mp

*

sffz p

fff fff

*
mp

sffz p

fff

*

mpfff

sffz p

fff fff sffz

�� �� �� �� �� ��
�� �� �� �� �� ��
�� �� �� �� �� ��
�� �� �� �� �� ��
�� �� �� �� �� ��
�� �� �� �� �� ��
�� �� �� �� �� ��

�� �� �� �� �� ��
�� �� �� �� �� ��
�� �� �� �� �� ��
�� �� �� �� �� ��
�� �� �� �� �� ��
�� �� �� �� �� ��
�� �� �� �� �� ��
�� �� �� �� �� ��

�� �� �� �� �� ��
�� �� �� �� �� ��
�� �� �� �� �� ��

�� �� �� �� �� ��
�� �� �� �� �� ��
�� �� �� �� �� ��
�� �� �� �� �� ��
�� �� �� �� �� ��
�� �� �� �� �� ��
�� �� �� �� �� ��
�� �� �� �� �� ��
�� �� �� �� �� ��

G
8)))))))))))))))))))))))))) 8))))))))))))))))))))))))))))))))))))))

0 0

G 0
8)))))))))))))))))))))))))))))))))))))))))))))))))))

(2 to Fl.) 0 0

G 0 0

G 0 0

G 0 0
� 0 0 0
� 0 0 0

G
8)))))))))))))) 8)))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))

0 0

G
8)))))))))))))) 8))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))) 0 0

G 0 0

G 0 0

G 0 0
� 0 0 0
� 0 0 0

� 0 0 0

� 0 03 3 3 3 3 3 3

N
Agogo

0 0
N 0 0

3 3 3 3 3 3 3

G
solo 1 player

0

G

G solo 1 player0

G
� solo 1 player0

�

� soli 2 players0 E EE E EE

�

�

* As before at letter D (like viol)

div. 0 0

4 MMMB
E MMMB 5� = 4 ? ?
k5 5 5� 5 5
 B
 k5 5 5� 5 B
 : 5�

� = 4 4

4 MMMB
E MMMB 5� = 4 ? k5E 5E 5 5 5
E ' 5�� = 4 4

4 MMMBE MMMB 5� = 4 ? 4 MMMBE MMMB MMMB : 5�E� = 4 4

4
B
E B 5

� = 4 ? 4
B
E B B : 5�

� = 4 4

4
BB
EE BB 55� = 4 ? 4

BB
EE BB BB :: 55�EE � = 4 4

BB
 :: BB 55 4 ? BB :: BB BB ::
B
 : B 5 4 ? B : B B :
4 B
E B 5� = 4 ? 4 B
E B B : 5�� = 4 4
4 B
E B 5� = 4 ? 4 B
E B B : 5�� = 4 4

4 MMMB
E MMMB 5� = 4 ? 4 MMMB
E MMMB MMMB : 5�� = 4 4
4 MMMB



MMMB 5� = 4 ? 4 MMMB MMMB MMMB : 5�� = 4 4

4 MMMB
E MMMB 5� = 4 ? 4 MMMB
E MMMB MMMB : 5�E� = 4 4

BB
 :: BB 55 4 ? BB :: BB BB ::
B
 : B 5 4 ? B : B B :
B
 : B 5

4 ?
B : B B :

MMM�: MMM� · ·5
�
E ·5
�
·5
�
·5
�
·5
�
·5
�
·5
�
·5
�
·5
�
·5
�
·5
� MMM�: MMM� ·5

�
E ·5
�
·5
�
·5
�
·5
�
·5
�

·5
�
·5
�
·5
�

·5
�
E �= 4 4

4 MMMB
 MMMB 5� = 4 ? 4 MMMB
 5� = MMM5
 MMMB : 5
��= 4 4

5

 4 4 ? 5� 5� 5� 5� 5� 5� 5� 5� 5� 5� 5� 5� 5


 4 4 ? 5� 5� 5� 5� 5� 5� 5� 5� 5� 5
��= 4 4

MMMBBE :: MMMBB 55� = 4 ? MMMBBE :: MMMBB MMMBB :: ? 5E 5 5E 5E 59

MMMBBE :: MMMBB 55� = 4 ? MMMBBE :: MMMBB MMMBB :: B : B : '

MMM
BB :: MMM

BB 55� = 4 ? MMM
BB :: MMM

BB MMM
BB :: ?

59 5E 5 5E 5E

MMM
BB :: MMM

BB 55� = 4 ? MMM
BB :: MMM

BB MMM
BB :: B� : B : '

MMM
BBE :: MMM

BB 55� = 4 ? MMM
BBE :: MMM

BB MMM
BB :: ? 5E 5E 5E 5E 5E 5E

MMM
BBE :: MMM

BB 55� = 4 ? MMM
BBE :: MMM

BB MMM
BB :: B : B : '

MMM
BB ::

MMM
BB 55

� = 4 ? MMM
BB ::

MMM
BB

MMM
BB :: ? 55 5 :5

5E : 5E 5 55� 5 5= 5
�

MMM
BB ::

MMM
BB 55

� = 4 ? MMM
BB ::

MMM
BB

MMM
BB ::

B� : B : '

MMMB : MMMB 5� = 4 ? MMMB : MMMB MMMB :
55
�
� = 4 4
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Picc. 1.2

Ob. 1.2.

Eb Cl.

Bb Cl. 1.2

Bsn. 1.2.

Cbsn.

Hn. 1.2.

Hn. 3.4.

Tpt. 1.2.

Tbn. 1.2.

B. Tbn.

Tba.

Timp.

Perc. 1.

Perc. 2.

Vln. 1

Vln. 2

Vla.

Vc.

Db.

q = 43N104

f espress. pp

p

mp pp

mp p pp

pp mf p

q = 43N

n

pp n

n

pp ppp

n p

pp n mp

n

pp n

G 0 0 0 0 0 0 0 0

G 0 0 0 0
1. solo

0
9

G 0 0 0 0 0 0 0 0

G 0 0 0 0 0 0 0 0

� 0 0 0 0 0 0 0 0
� 0 0 0 0 0 0 0 0
� 0 0 0 0 0 0

G 0 0 0 1. J " J " J "
gliss.

J "
gliss.

J " J " J 0

G 0 0 0 0 0 0 0 0

G 0 0 0 0 0 0 0 0

� 0 0 0
1.

gliss.

0
� 0 0 0 0 0 0 0 0
� 0 0 0 0 0 0 0 0

� 0 0 0 0 0 0 0 0

N 0 0 0
Windchimes¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶

N 0 0 0 0 0 0 0 0

G 0 0 0 0

G 0 0

G 0 0 ²²²²²²²²²²²²²² ²²²²²²²²²²²
G

(tutti unis.)

²²²²²²²²²²²²²² ²²²²²²²²²²
� 0 0 0

sul pont.

� 0 sul pont.

� EE E E 0 0 0 0

� 0 0

� 0 0 0 0 0 0 0 0

=5 5� B : 555555555 =5 5�5� 5 :: 5 5
� : 5 : 5
4 ?

' B ?

?: 5 5� 5 5 5 5 5 5� 5 5 5 5 5 5 B� :

5 5 5� 5 5 5� B 5 5� B 5E� = 4 ?

?

5E 5 : 5E 5 B9 4 5 5E 5E 5 5 59 BE B : 4

'� ' 5 B� : ' ' '

5 5E BE 4 5E 5 5E 5E : 5E � BE B : 4 'E 'E
' ' 5 B : ' ' ' 'E 'E

BE BE 4 5E 5E 5 5E 5E BE BE B : 4 ? 4 MMM5E
' '� 5 B� : ' ' ' ? MMMBE
5B 5E BB 4 5= 5E � 55 55 BE5E 5 BBE BB :: 4

'� '� 5 B : ' ' '
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1

2
1

2
12

1

2

1
2

Fl. 1.2

Ob. 1.2.

Eb Cl.

Bb Cl. 1.2

Bsn. 1.2.

Cbsn.

Hn. 1.2.

Hn. 3.4.

Tpt. 1.2.

Tpt. 3

Tbn. 1.2.

B. Tbn.

Tba.

Timp.

Perc. 1.

Perc. 2.

Vln. 1

Vln. 2

Vla.

Vc.

Db.

pp p

rit. q = 40112

p legato n f

p legato n

p legato n f pp

p legato n

*

pp legato
*

pp legato

pp p

pp p

pp p

mp

ppp

n

rit. q = 40

pp
n ppp n

n

sfz p sfz p p sfz p

mp

pp

G
1. (1 to Fl.)

0 0 0 0 0

G 0 0 ! 1. solo

3 3

G 0 0 0

G 0 0 1.solo 3 3 3 3

� 0 0 � 1. 0
� 0 0 0 0 0 0 0
� 0 0 0 0 0 0 0

G 0 0 0 0 0 a2. "con sord.

G 0 0 0 0 0 a2. con sord.

G 0
con sord. senza sord.

0 0 0

G 0 con sord. senza sord. 0 0 0

G 0 con sord. senza sord. 0 0 0
� 0 0 0 0 0con sord.

1. solo senza sord.

3 3

� 0 0 0 0 0 0 0
� 0 0 0 0 0 0 0
� 0 0 0 0 0 0 0

� 0 0 0 0 0

N � �¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶¶
N 0 0 0 0 0 0 0

G
(tutti)

0 ²²²²²²²²²² ²²²²²²²²²²²²²²²²² ²²²²²²²²²²²²²²²² ²²²²²²²²²²²²²²²²²²²²²²²²²²²²
G ²²²²²²²²²²²²²²²²²² ²²²²²²²²²²²²²²²²²² ²²²²²²²²²²²²²² ²²²²²²²²²²²²²²²²² ²²²²²²²²²²²²²²²² ²²²²²²²²²²²²²²²²²²²²²²²²²²²²
� 0 0 0

� sul pont. 0 0 0

� 0 0 0 0 0 0 G
div.

�

* As at rehearsal mark B (ca. q = 72)

0 0 0 0 0 0 0

4 5 = 5 = ? 4 55E�

? 4 55 55
5
5 55 55 55� 55 5 BB 5 :5 : = ? 3

5M 5M 5M 5M� 5
M 5M 5M 5M� 3 = ?

? 4 5E 5 5E 5 5 5E 5 B 5 : = ?

? 4 55EE 55 55E 55 55E 55E� BB! :: 55 :: = ? 4 5I5I 5I5I5I5I5I5I5I5I5I34

? 4 5 5 5 5 5 5 5 B : 5 : = ?

M''EE

M''EE
5E : 5E 5 5E 5E 5 5E 5E B9 5� = 4 ?

5E : 5E � 5 5E 5E 5 5E BE 5� = 4 ?

BE : 5 BE BE 5� = 4 ?
5I 5I 5 5� 5I 5I 5 5 5 5 B 5E� = 4 ?

5E 5E 5 4 5E 5 5E 4

4

4 5� = 5� = 4 BE : 'E 'E 'E BE ?

'E 'E 'E 'E 'E 'E BE ?
MMM5
 4 MMM5 MMM5
 5� = 4 ? ? 4 MMM5 MMM5
 5� = 4 4

MMM5� = MMMBE MMM5� = 0 ? MMMBE MMM5� = 4 ?

? 4 555EE�
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